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L. Annis a member of the marketing department and is assigned 10 several product teams as the market research

specialist. She is responsible to the directors of the various teams to which she js gesi gned and also takes orders

from the director of marketing.  What organization design does Ann's company apparently use?

(A) Conglomerate  (B) Divisional (C) Functional (D) Hybrid  (E) Matrix

-2

One of your employees is in the habit of takin g excessively long lunch bresks,  The more you talk with him

aboul the problem, the worse his behavior becomes.  Fven written reprimuands and disciplinary layoffs fail o

produce improvement.  Based on this information only, what kind of reinforcement are you apparently using”

(A) Avordance (B} Extinction  (C) Positive reinforcement () Punishment  (E) Distortion

In what stages of the communication process does perception play its most impaortant role?

fad

(A) Encoding and transmission  (B) Transmission and decoding  (C) Encoding and decoding ([ Receiving
and decoding  (E) Receiving and transmission

Your boss says she has an open door policy and wants you 1o come in and see her if you have a problem.  When
¥ou go o to see her with a personal problem, she acts as 1 you are imposing on her time, What breakdown in
role episodes will occur in such a situation?

(A) Role ambiguity (B} Intrasender conflict (C) Person-role conflict (D) Intersender contlict

(E} Intrarole conflict

Which of the following is a true statement about the effects of automation o employeeas?

(A} While there will be a Joss of jobs at first, in the long term more jobs will be created than are losr,
(B) The myjority of the workers will lose their jobs when automation is used,

(L) More employees will be needed immediately after the automation is implemented, but eventually the number
required will decrease.

(D) There is no way to judge before implementation how many workers will be needed,

(E) Many of the workers now performing the jobs will be unable to perform the new automated jobs and
therelore will be fired.
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Bill Mallory found that when his employees have standard operating procedures 1o follow, or if they are very
competent, there is little need for him to exercise much directive leadership.  What leadership theary would
predict these results?

(A) Substitutes for leadership (B} Fiedler's contingency  {C) Vroom-Yetton-Jago (D) Managerial grid
(E} Trait

The approach to enhancing organizational innovation that wil] bring about a change in organizational atitudes

and methods is the

{A) use of rewards for innovation, (B} use of a strong and appropriately focused culture.  (C) elimination of

individual entrepreneurship. (D) addition of research and development 1o the firm.  (E) use of Nextime for
OO VALOTS.

Which of the following is NOT a concern of operations management?

(A) Acquiring inputs for organizational transformation processes (B} Quality of work in process
(C) Distribution systems for outputs (D) Management of in-process inventories (E) Management of raw
malterials inventories

At the weekly staff meeting, Jim wld an off-color Joke. Melissa was offended by the joke and told him so.
Jim detended his actions by explaining that he was simply trying to treat everyone equally.  Which individuul
strategy fur managing diversity is Jim lacking in?

(A} Communication  (B) Tolerance  (C) Empathy (D} Understanding  (E) Knowledge

What is the most impartant factor in effectively integrating the planning and control functions?

(A) Set clear objectives.  (B) Develop a strategy that eliminates the need for controls. (C) Compare past
performance to standards, (D) Ensure that the system is flexible. (E} Frovide lor controls as plans are
developed.

Managers must follow up on important issues and actions and give subordinates feedback.  This quality s best
characterized by which of the following:

(A) Provide clear direction. (B} Establish ongoing controls. () Letting you employees know you are
checking onthem (D) Coach and support people.  (E) Encourage open communication

Elton Mayuo's writings led to a fuller realization and understanding of

{A) the chain of command in an organization.  {B) the human factor in work situations. (C) the importance of
financial profit in an organization. (D) scientilic management. (E) the use of cost accounting and contral,

One of the first individuals to recognize and apply human relations practices was

(A) Robert Owen  (B) W, Edwards Deming  (C) Max Weber (D) Frederick W. Taylor (L) Peter Drucker

The continugus process of measuring a firm's goods, practices and services against those of its toughest
competitors and leading firms in other industries is referred 1o as

(A) benchmarking.  (B) comparison. (C) measuring. (D) matching, () correlating,
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According to Peter Drucker, the way to measure a firm's productivity is through

(A} the earnings, operating income, or net income after taxes.
(B) the nenhuman assets the irm owns.

{C) the efficient use of resources.

(D} the ranking of a {irm's market share among compentors.

(E} the workers record for achieving objectives over time.

. The BCG Model assumes that 5BU financing comes mainly from

(A) sale of stock. (B} sale of bonds. () borrowed capital. (D} internal means.  {E) outside investors of al]
kinds.

Which of the following is untrue of the chain of command?

{A) Itis the communication link among all positions in the OTEanization.

(B) [t specifies a clear reporting relationship for each person in the Organization.
(C) Generally, no individual should report 1o mare than one SUPErvisor.

(13) Is completely negated by the matrix form of organization.

(E} Itis the formal channel that defines the lines of authority from top to bottom of the organization.

_is a wp priority of human resource management.
{A}Finding qualified people 1o perform the various functions of the organization
(B) Satisficing the personnel requirements
{C) Organizing a work force
(D) Putting together the best benefits package

(EjMatching people and activilies to improve quality and competitivenass

Which of the following is not an objective of formal evaluations?

(A) To make decisions easier involving promotion, transfer, pay raises, and terminatjon,
(B} To help establish training and development programs and evaluate their success.
(C} To provide feedback 1o employees thal point to strengths and weaknesses.

(D) To predict whether recruitment and selection activitics lead 1o altracting, screemnyg, and hiring the best
qualihed human resources.

{E] To help determine the actual numbers of personnel that might be required in a particular position.

When your boss tells you to increase productivity and your workers are striving for a more relaxed work
almosphere, you are facing

(A) friend-role canflict, (B} interrole conflict.  (C)intrarole conflict. (DY intersender conflict. (E) person-

role conflict.
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Your company s advertising for a new emplovee 1o work in your area of responsibility.  The person in
this position will be important because the work directly impacts production performance.  One of YO
friends from college needs a job and you think he is qualified for the position.  But you fell vou cauld
find better qualified and more experienced candidates |f you keep looking.  What would you do? Why?
What factors would influence your decision? Could organizations develop any rules, or policies w des|
with situations like this? (15%)

Why would a company choose to follow rather than lead technological innovations? s the potential
udvantage of technological leadership greater when innovations are oceurting rapidly, or 1s it better in this
case o follow'? (15%)

Compare and contrast porter’s “competitive model” and Miles and Snow's “adaptive model™ for their

respective insiphts to a manager engaged in strategic planning for an organization. [ 15%)

Define three key terms of the Expectancy Theory. How do they explain the level of motivation that a
person may display at work? {15%)




